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STD: Il T3 Roll No.

Date of Examination : 10 February 2019, Sunday
Tdeneffardt geA / Guidelines for the Candidate

1. T99 Yftaehdict Te U9 SIS AT el Fasem Wt e s,
Please make sure that all questions are printed properly in Question booklet or
not.

2. U AT & TRET SHATERTE ek UTsieh! (e TeaT=! W hied ST,

Check to make sure that you have received the appropriate answer sheet of your name and roll
number.

3. ufet g& guangd fageneat crrean |yut el et svaredt 30 fafe iften ae quamm
BECH

You will get additional 30 minutes to check and make sure about the information about
yourself on the Answer Sheet before the start of the exam.

4. FQR IYGRETRALE TRUT 100 T ST Tedeh TYHTS! 2 T[0T 37T
This question booklet contains 100 questions each question carries 2 marks.
5. ©d U9 AISiul STavash 3TE. Yehiedl ScIaege MaTeedl TN $Haeare! SRR T[0T Tl het
SATUTR AR,
All questions are compulsory. There is no negative marking.
6. oNUTATE T UG fERT oot Wl A T
Check to make sure that you have received the appropriate test booklet for your standard.
7. UATAHER hales Tehd Stal SNIsR AT, SNieR ISt Uhd

There is only one correct answer. Choose only one option for an answer.

8. eIl UH WIIUITaTS! eheles shiedl / THest T Sictu-=r o,
To mark your choice of answers by darkening the circles in the Answer Sheet, use a Blue/Black
Ball, Pen only.

Eg.

Q. x : - Fill in the blanks.

My father went..........ccevvecrrceneennes To buy some milk.

a) there b) their c) They're d) here

As the correct answer is option a) you must darken the circle corresponding To option a) in the Answer

Sheet as follows.
CORRECT METHOD WRONG METHOD

> @®OO®| [«x @GO W]
9. UReN HUCHTER gl ScUTIohT THALTERIEhE UXd Ul

Return the Answer Sheet to the invigilator at the end of the exam.

10. SATUET URET ShHTh TYTYREThar GEaT ToTgTal a Het TYgieceht URET ShicTaeiFaR e diad
11

Write your Roll No. on the Question Paper too and take it home for future reference.

Visit www.rtsexam.com for answer key after 8 days




AR 50T ISTeAl Shid TEUTdTd ?

A) GR Fatt B) fora Zt C) I%01 Tl NEUES
What is power from the sun called?

A) Solar Power B) Cold power C) Hot power D) Atomic power
WRATS T T VT ?

A) AFTEIE B) hodl Ok:El NG
The National fruit of India is-

A) Apple B) Banana C) Orange D) Mango
URAT Weeita whioft feafge s 2

A) g EER B) GuTSreig A9

C) \gTen ek D) ufed A&

Who has written the national Anthem of India?

A) Rabindranath Tagore B) Subhash Chandra Bose

C) Mahatma Gandhi D) Pandit Nehru
IR hid TR ?

A) SR B) TGS C) faeeht D) §&13
Where is Qutub minar?

A) Agra B) Lucknow C) Delhi D) Mumbai
TE TS & WHTG T Wit Hafer A1 ?

A) fehehe B) SHeITSTt C) erant NEZES
Rahi Sarnobat is related to which game?

A) Cricket B) Shooting C) Running D) Kabaddi
WRATSAT Uil ShIUT TUg 2718 ?

A) & R B) STCCAIfeeh HEMNR C) W9Td WgFR D) 3Rel &g

Which ocean lies to the west of India?
A) Indian Ocean B) Atlantic Ocean C) Pacific Ocean

WA FEIATHTAG A T ST ST ShivTdl ?
¥y, 7, 3§, 33, 3%, 30
A) ¥R B) 3¢ C) %0

Find the missing number in the following series —
45,?, 36, 33, 31, 30

A) 42 B) 38 C) 40
WIeHIeTieh! ThIUTA AT & ?
A) T B) g C) AR

D) Arabian sea

D) 34

D) 35

D) S




10.

11.

12.

13.

14.

15.

16.

Which of the following is not a sense organ ?

A) Skin B) Brain C) Nose
SR YT WEAT HEAW ShIUT TR ?
A) TTIATEE B) sf@ewi argd C) AWM anfeer

Who is the current Chief minister of uttar Pradesh ?
A) Rajnath Singh B) Akhilesh Yadav C) Yogi Adinath

Tia® FEUiel Yeb AT T Bl ?

A) HETER B) HEY C) feraenat
What was the real name of Gautam Buddha ?

A) Mahavira B) Rishabha C) Siddhartha
WTeieTden! 9o Uarel shiuTdt ?

A) Ut B) &= C) B=ft
Which one of the following is a liquid substance?

A) Petrol B) Orange C) Umbrella
WTeiteTueht Taid 39 0Tt ShIvTaT ?

A) s B) 3¢ C) o
Identify the tallest animal from the following.

A) Zebra B) Camel C) Giraffe
AT ITea ATSET ?

A) IR B) oIk C) AT
Select the odd one out.

A) Peacock B) Duck C) Kangaroo
WTCACTUh! ShIUTAT UTGsIE SITOT AATET ?

A) T B) @A C) T

Which one of the following is not a pet animal?
A) Rabbit B) Snake C) Cow

TFETCAT STHRhET T 3THE TR Gral hITa STuR e
A) fermm B) 9 ) e

You need to go to America, What will you use?

A) Aero Plane B) Bus C) Railway
WICTATUh! TETaRUT SR T HIUTd ?

A) 3 B) R C) st
Which one of the following is an eco friendly Means?
A) Railway B) Car C) Freeze

D) Eye

D) Yo f& =nea

D) Mulayam singh yadav

D) =I5

D) Chandragupta

D) femma

D) Aeroplane

D) T&d

D) Buffalo

D) &&

D) Swan

D) ©eT

D) Horse

D) SicTd<h! @

D) All of these

D) ARt

D) Bicycle




17.

18.

19.

20.

21.

22.

23.

24.

25.

WTATTdeh! Tsiia 3T T ?

A) TTUTER B) ®a3 C)TH
Select the living thing from the following.
A) Computer B) Pan C) Truck

WA eTUeh! hUS TATIUATETS! THITI TR Shedl ST AT,

A) TE B) ¥9im C) wIIE

Which one of the following is not used for making clothes ?
A) Sugarcane B) Silk C) Cotton

SIS @ feemmon vt fregarma omg ?

A) TiEgR B) WAl C) 3TEHSTR
Jejuriis located in .......... District.

A) Kolhapur B) Sangli C) Ahmednagar
formamen sy wft wEen ?

A) &THE TEEA B) S (g =IaTS C) Mge Y
Who discovered Airplane ?
A) Thomas Edison B) John Logie beard C) Shivkar Talpade

WeAleTdeh! UREvTeh Uarel ShiuTat ?

A) AUTEt B) Hie C) =Rt
Which one of the following is a transparent?

A) Candle B) Salt C) Tea
WTATCTUh! TSTIaTe ShivTdl A T ATEl ?

A) 31 B) ot C) 7|
Which one of the following is not a basic need of living things?
A) Food B) Water C) Gas
WATeTdeh! T SHEAUTR Ged ShivTd ?

A) TEG B) el c) FRfemig
Which one of the following is a night blooming flower?
A) Sunflower B) Rose C) Tuberose
NTBT ITeg ST ?

A) T B) XEYH C) 3e
Choose the odd one out?

A) Flower B) Television C) Tree

A3 379 g US gl TSehTuT ShivTean Usama STg ?
A) ufgem s B) TSTEA C) ScRIES

D) {1t

D) Ant

D) TRt

D) Wool

D) qut

D) Pune

D) Pt U

D) The Wright Brothers

D) Tl

D) Glass

D) gan

D) Air

D) AR

D) Jasmine

D) Trerd

D) Grass

D) SRId




26.

27.

28.

29.

30.

31.

32.

33.

Hill station Mount Abu is in which state?
A) West bengal B) Rajastan

TS eeevnnnnnnnn AR

A) TTgIR B) a1 C) a3

What is moon?

A) Asteroid B) Star C) Planet
TRIEE AL hI0Te ?

A) U0 B) &ieA C) =IaTeh
Capital of france is ............

A) Paris B) London C) Newyork
TRATS! Tfget Tt hioT 3 2

ARIECE S B) Tig; SATq

Who was the first present of our country India?
A) Pandit Nehru

GUHTACNA ThIUTeT TETAT 651 TE T8 TEUTaTd ?

A) gegit B) WiTh C) gy

Which planet is known as the blue planet of our solar system?
A) Earth B) Mars

YRATH I Teid 39 Ueid [IReR Fhiurd ?

A) TS 379 B) hesTaTE

Name the highest mountain peak of India?
A) Mount Abu B) Kalasubai

‘& Tohan v’ g A <hivt e ?
A) Ufed E® B) WETeHT TiEh

Who gave the slogan Do or Die?
A) Pandit Nehru

HERTSSTA TAIHEHTAT TeRUT fohelt ST o118 2

A) %9 B) ¥4 C) ¥¥
How many Loksabha seats belong to Maharashtra?
A) 47 B) 45 C) 44
HERTSTA TeRUT feheit foTeg ommea ?

A) 39 B) 34 C) 3%
How much districts are there in Maharashtra?

A) 36 B) 35 C) 34

C) Uttarakhand

C) ST.TUTHUH

B) Rajendra Prasad  C) Dr.Radhakrushnan

C) Mercury

C) AT e T

C) Mount Everest

C) TTCATIGY ITE

D) Gujrat

D) SWIg

D) Satellite

D) W

D) Rome

D) 1.T.W. 3. 315gt et

D) Dr.A.P.J.Abdul kalam

D) &

D) Jupiter

D)% - ?

D) K-2

D) GHTS=Ig S

B) Mahatma Ganghi C) Lalbhadur shastri D) Subhashchandra boseB

D) %¢

D) 48

D) 3%

D) 36




34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

44,

AT ST fo heft STl ?
A) Q4 STTEE B) k& 3TiFeIeR

Vachan prerana Din is on-
A) 15 August B) 15 October

C) ¢4 AR

WRaT=! 272} HEft <hI0T AT ?
A) 3THUT Al B) TR

Who is the finance minister of India?
A) Arun Jaitley B) Rajnath Singh

TSI FUTHTAA GERTS 378 ShIUTd ?

What is the 15th letter of the English alphabet?

A)O B) F QM

ko = e et 2

A) S B) €30 C) R

Half of 250 is........

A) 125 B) 130 C) 225
EUC R CATC G

A) SR B) g C) g&h
Choose the odd one out.

A) Knife B) Gun C) Book
G’ = vTEgTe 319} iU ?

A) SR 01 B) ©TE 20N C) fuerren g™
‘Tag’ A1 yregTe forGagnelt v1eg <hiurat ?

A) HITHR B) g& C) TruT=IoT
WTeAteTieh! TTEEh{cRT 916G ShITTAT ?

A) fe=n B) el C) ITEE

“ STERTIT STT0T 1201 AT ATSFITIR 372 ShIUTeT ?

A) TU ATHE F0T B) Tu farcht arent C) ARA T
WU I 9168 ShIUTAT ?

A) ATHTIATOT B) FER C) ATt
eIl IS sfiesEn ?

A) TR - B) TEn-fo= C) S-S

——
Ul
| —

C) 15 November

C) G&R GEar

C) Sudhir mungantiwar

D) §% TR

D) 15 September

D) ot fergere

D) P.Chidambaram

D) J

D) 334

D) 325

D) ferw

D) Poison

D) A& SOl

D) WITEd

D) Ig

D) CTBICTS 0t

D) WavH

D) dg-IR




45,

46.

47.

48.

49.

50.

51.

52.

53.

54,

55.

56.

WA TTUeh! AT ITea hHIUTAT ?
A) T B) Hel C) faem D) 3T

What is the plural form of EYE
A) Eyess B) Eya C) Eyes D) Eye

Choose the correct meaning for the word - Sense
A) Think B) Feel C) Remember D) Go

Fill in the blank with suitable option:
We are doing........... work.
A) Our B) His C) Your D)None of these

Find the rhyming word of -
SHINE
A) Rain B) Hen C) Mine D)AIll of these

Mark the word with the correct spelling:
A) Height B) Hieght C) Heigyt D)Heeight

Choose the incorrect sentence from the given sentences.
A) In have finished my word. B) I will go to school for operation.
C) I will go to market to bring vegetables. D) | will go to office every day.

What is the antonym of the word given in capital letters-
RICH
A) Poor B) Bad C) Fair D) All of these

Who mend our shoes?
A) Carpenter B) Cobbler C) Black smith D) Doctor

LWu¥3 AT T feraTiia ¥4 hivT ?

A) 4000+4400+4%3 B) Wt+4+%+3

C) ®000+%00+%¥0+3 D) 40000+400+%0+3

The expanded form of the number, 5543 is:

A) 5000+5500+543 B)5+5+4+3

C) 5000+500+40+3 D)50000+500+40+3

¥fhet =l I,

A) %00 B) ¥ C) %o D) ¥000
Convert4 kg to g.

A) 400 B) 4 C) 40 D) 4000
3R x ¢¢L=7?

A) 9% B) <0gR C) R¢og D) ©\9%¥?




57.

58.

59.

60.

61.

62.

63.

64.

99 x 88 =?

A) 8721 B)8712 C) 9801
8 4%
— + —
v ?¢R

A) % B)— C)—
7 4+ 5
12 12
A1l B l C i

) )12 )12
FAId g S [Haen :
A) &93¢ B) &%¢3 C) &3¢R
Select the smallest number-
A) 6738 B) 6983 C) 6389

TR! Ut TohTTel 4E 31T, TR 4 Uit fehma fomett 2

A)Ro0 % B) §4 % C) 4%
Find the cost of 5 pens if the cost of one pen is Rs 5.
A) Rs 20 B) Rs 15 C) Rs 25

9 AT TEAAT ¢ A WA TR HATIRR fohet Age ?

A) & B) R C)u
What is the quotient when 72 is divided by 8 ?
A)6 B) 9 )5

¢, %0, 83, 84, %8¢, ?

A) R% B) 2% C) R0
8, 10, 13, 15, 18, ?
A) 24 B)21 C) 20

9009 — F¥9E =Tehdl ?

A) ¥4l B) %%< 38 C) ¥3¢%
7001 -2416 =?
A) 4585 B) 4481 C) 4384

EX9X¥="? ;I HIUT INEM.

A) gec B) Su¢ C) o

Which one of the following options is the answer for 6x7x4="
A)168 B)158 C) 150

TR 37ht Tatd Hd aE -

A) R%%¢ B) $2%%¢ C) ¢eee

D)7742

D) &3¢

D) 6938

D)3k %

D) Rs 35

D)o

D)7

D) %%

D) 19

D) ¥¥¢%

D) 4484

D) gR¢

D)128

D) ]%%R

——
~
| —



65.

Largest four digit number is -
A) 9998 B) 1111 C) 8888

HEAT TR H0:

¢0 TR + 3§ IIdeh +% 39Tk + 2 Teheh

66.

67.

68.

69.

70.

71.

A) R§%30 B) ¢&%R C) ¢RE¥R

Form the number:
80 Thousand + 26 hundred + 4 tens + 2 ones

A) 26420 B) 8642 C) 82642
Teh 3{eht STehren st femett 2

A) 4 B) 4k« C) ¥4
What is the sum of one digit numbers?

A) 25 B) 55 C) 45

b R R U™ v X

A) 4000 B) koo C) o000
How many metres are there in 5 kilometres?

A) 5000 B) 500 C) 1000
.40 T TRUNIN .............. T

A) kco B) 4&o C) 4o
How many paise are there is Rs 5.50 ?

A)580 B)560 C) 570
WA HATHATTE (IhI0T HIST.

A) gR B) ¢¢ C) ¢3

Count the number of triangles in the figure below.

A

A) 12 B) 11 C) 13

gt : gg ;T : ?

A)ga B) ¥u1g C)arg
Water : liquid : Glass : ?

A) Liquid B) Solid C) Gaseous
AT 168 AT

A) Wl B) 3HA C) aR

D) 9999

D) ¢3%0

D) 8260

D) 34

D) 35

D) 40000

D) 50000

D) 440

D)550

D) go

D) 10

D) ITaHT AT

D) None of these

D) efermm




72.

73.

74.

75.

76.

Find the odd one out.

A) Fax B) Email C) Telegram D) Telephone
TTATCTUHT G SHIVTT TehehI HISTATA ?
A) T\ B) fereTim c) forex D) firer
In which one of the following units milk is measured?
A)Gram B)Kilogram C) Litre D)Meter
WA HEATHTA I TTe5eIel TEaT e,
2, ok, L4, 84, ¥4, ?
A) %% B) ¥¥ C) R D) 34
Find the missing number in the given number series.
125,105, 85, 65, 45, ?
A)46 B)44 C) 25 D) 35
WA HATSHATd Tohelt ST TR ?

L]
A)R B) 3 C) ¥ D) ¢

How many rectangles are there in the figure below?

e

L

A)2 B)3 C) 4 D)1

WA T9 ATt AR FTHUTRE SRt Ik HTSHeATHE ITeT.

Find the figure that matches the question figure from the answer figures .

Al
A) ﬁ B) & Q) &

WA STHATHTCAE eI STTehelt S,

Identify the next figure in given figure pattern.

O O O ]7?

A

D)

e .0 [O],




77.

78.

79.

80.

81.

82.

83.

A) ¢o B) ©% C) ¢R
Identify the odd number.
A) 80 B) 79 C) 82

D) ¢¥

D) 84

W TR UTUETd et fatere el f8et o St STTeheaived e,

Find the water image of the question figure from the answer figures.

TSR/ Question Figure

K

IcaReRdl/ Answer Figure

X N K

A) - B) )

TeTd A SHRT ga i et
A) AT g B) g gfare C) ferre gt

Find the odd one out.
A) Saina Nehwal B) Rahul Dravid C) Virat kohli

TTCATCTUh! ShiuTedl STTehdietl TR S5 TR ?

Which shape has exactly four sides?

O . N\

WA eTUeh! GeHTIT SIS ShiuTdT ?

A) T B) @iE C) 33
Which one of the following is the organ of a bird?

A) Teeth B) Truck C) Stem
JHE UG HioEl ?

A) Torere B) Feaicl C) &
Find the wrong term out.

A) Cricket B)Football C) Carrom
TIeTA A ST STTehelt S5,

Select the odd figure out.

nllN 0 @

10

%

D) foareht T

D)

D) Mithali raj

e

D) U@

D) Wing

D) gl

D) Kabaddi

IS5
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84.  TRIUTAY 3ATehel THIHG 3R ?

Which one of the following figure is symmetrical?

RANRVANRAD SN

85. AN Glaen aiaia shiuTd Mee A ATE) ?

A) 3TRT g B) STTe5T C) |TeSITeh ST D) SUBTCIE
Which one of the following is not a civic amenities?
A) Health centre B) School C) Public Place D)Restaurant

86. Mg A A sfar s e s ?

A) TRt et B)=s C) =13 D) &g
‘Gate way of India is located at?
A) New Delhi B) Mumbai C) Chennai D)Hyderabad

87. ‘feAvenfeq’ sy 3 ?

A) T B)UTUATd C) Sfeea D) gad
Hemoglobin is present in ?
A) Blood B) Water C) Soil D) Air

88. UG-l Ul Tt ShiUTd ?

A) TS B)3ig C) GEEA D) g%
Which flower is white in colour ?
A) Rose B)Marigold C) Mogra D) Sunflower

AT : WA €] {0 T Ulged UG gHA1 UaTeh Tl Haiel 3Ty STTel adre e forean ugren =itean
wea Fregreen St Ao wemht o1 § werd S SR ity fae.

Note : In the following 89 and 90 questions there is certain relationship between the pair of terms on the
either sides of :: Identify the relation between the pair and find the missing one at the place of
guestion mark.

89. 36 :%6::¥?

A) 30 B) 2% C) D) &0
36:16: :547?
A) 30 B) 29 C) 25 D) 60

. @: @:::?
A) B) C)% D)%

11
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91.

92.

93.

94.

95.

96.

WAt T feeiedn ShAM Tg-Tegreat ST AUTRY SITehelt Ine.

In the question below identify the correct option that follows the given order.

) (O] [ (S]]

A) E B) @ C) E D) <>

GATRTITIRT TREAUTETS! TFE! ShIUTd TTHT STIEA ?

A) GTET0T B) TIeh g C) MaETEA D) hTe5T <ISHT
Which product you will use to protect yourself from sunlight?

A) Soap B) Perfume C) Mobile D) Sunglass
W o1 TgTergrean ST ShIvTd e A5e ?

SN
N

A) 4 B) © C) g0 D) g%

In the following circle which number will replace the question mark?

SO
DY

A) 5 B) 7 C) 10 D) 16

¢ it NTITTE Wes Tt HIVTE 9T AT ?

A) Z2AforET B) S C)H e D) <A
18™ Asian games was held in the -

A) Indonesia B) Japan C) India D) China
WIAIdh! Ueh Thiesel WIRATS! WY ShivT g 2

A) TSI IR B) PTeRY AT I

C) =@.4t. fam D) ARG <618

Who amoung the following was once president of India.?

A) Lal Bahadur Shastri B) Shankar Dayal sharma

C) V.P.Singh D) Morarji Desai
TTCATCTUGh! ShiuTd! a1 TERTEZTAT ATE! 2

A) TETert B)aTdt C)ehrET D) MR
Which of the following is not a river of Maharashtra?

A) Godavari B) Tapi C) Koyna D) Damodar

12
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97.

98.

99.

100.

WA IeTUeh! ShIUTd THTS HISTH TR ?

Which one of the following is not a social media?

A) n B)@ C) D)g

Tkl @ WERTETEAT ShUTedl WIeaTedl Hafl 3118d ?

A) T fereRma B) foterun C) AR D) T8

Which of the following department of Maharashtra ministry is hold by the Pankaja Mundhe?
A) Rural Development B) Education C) Health D) Home

i T hI=! Tfdeh TR ?

A) STt B) TN C) Trer| D) ggu

White Colour symbolises -

A) Peace B) Sacrifice C) Development D) War

WRATS TN ShI0T 3T ?

A) Sraes fasn B) W& e C) T TS D) YRE =il
Who is the chief justice of India?

A) Dipak Mishra B) Madan lokur C) Ranjan Gogai D) Sharad Bobade

13
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